Cambridge Prisms: Global Mental Health

www.cambridge.org/gmh

Research Article

Cite this article: Adiukwu FN, Adesokun O, Amuta-Igwe CM, Metu I and Jack IC (2024). Exploring cognitive characteristics and impairments in bipolar disorder: Insights from the BiDiLoS-Ng pilot study. *Cambridge Prisms: Global Mental Health*, **11**, e120, 1–8 https://doi.org/10.1017/gmh.2024.125

Received: 19 July 2024 Revised: 08 October 2024 Accepted: 10 October 2024

Keywords:

bipolar disorder; executive function; working memory; cognitive function; euthymia

Corresponding author:

Frances Nkechi Adiukwu;

Email: frances.adiukwu@uniport.edu.ng

Exploring cognitive characteristics and impairments in bipolar disorder: Insights from the BiDiLoS-Ng pilot study

Frances Nkechi Adiukwu^{1,2}, Olufisayo Adesokun²,

Chinwendu Maryam Amuta-Igwe², Izuchukwu Metu² and Isoboye Charles Jack²

¹Department of Mental Health, College of Health Sciences, University of Port Harcourt, Port Harcourt, Rivers State, Nigeria and ²Department of Neuropsychiatry, University of Port Harcourt Teaching Hospital, Port Harcourt, Rivers State, Nigeria

Abstract

Bipolar disorder (BD) is a leading cause of disability and is linked to cognitive and functional impairment, increased mortality from cardiometabolic disorders and bipolar disorder suicide. Few studies in sub-Saharan Africa have explored cognitive dysfunction in bipolar disorder. Our study explores the cognitive characteristics in a bipolar patient cohort in Nigeria and assesses its association with clinical and demographic variables.

40 participants from the Bipolar Disorder Longitudinal Study, at baseline, were included in the pilot study of the BiDiLos-Ng. Using a cross-sectional design, cognitive function was assessed using the Screen for Cognitive Impairment in Psychiatry. Multiple linear regression models were used to explore associations between dependent and independent variables.

Cognitive impairment was present in 41% of the bipolar cohort, it was not associated with the frequency of mood episodes, and higher educational level was associated with higher verbal fluency test scores (p = 0.02). Being in employment (p = 0.03), younger age (p = 0.00), and lower YMRS score (p = 0.006) were associated with higher working memory test scores.

The presence of mania symptoms during the euthymic phase of BD was associated with cognitive impairment. Executive function and working memory were linked to better academic and occupational attainment.

Impact Statement

- Bipolar Disorder has remained a leading cause of disability causing significant impairment in major areas of functioning.
- Cognitive impairment is seen in both the acute phase of a bipolar disorder episode and in remission.
- The presence of cognitive impairment especially in areas of executive functioning and working memory has a negative impact on academic and occupational functioning.
- In view of the prevalence of cognitive deficit even in the euthymic state, clinical inquiry into cognitive functioning should be part of the routine assessment of bipolar disorder patients on follow-up care, possibly using a sensitive, brief, self-rating screening instrument.

Introduction

Bipolar disorder (BD) is a severe mental disorder (Flaaten et al., 2024) characterised by periods of recurrent episodes of elated mood (mania or hypomania) and depressed mood, spaced by periods of relative mood stability (euthymia) (Xu et al., 2020; Flaaten et al., 2024) and impairment in many areas of functioning (Miskowiak et al., 2022a). BD has lifetime prevalence rates ranging from 0.8% to 2% for BD type 1 and type 2 (Pasovic et al., 2022), is associated with premature mortality, and is a main cause of disability accounting for about 7% of the DALYs caused by mental and substance use disorders as at 2010 (Esan and Esan, 2016; McIntyre et al., 2020). BD is a leading cause of disability especially in the young as it has been linked to cognitive and functional impairment and increased mortality from cardiometabolic disorders and BD suicide (Vieta et al., 2018; Gergel et al., 2024).

Previously the prognosis for BD was considered quite favourable; however, recent findings have suggested that disability and poor outcomes are common, even with adequate treatment (Esan and Esan, 2016). While treatment for BD typically targets clinical improvement and the acute syndromes resolve in most cases, the reality is that residual symptoms often persist during the euthymic period. These symptoms, which vary in severity, along with impaired functional and social outcomes, are more the norm rather than the exception (Mezes et al., 2022).

© The Author(s), 2024. Published by Cambridge University Press. This is an Open Access article, distributed under the terms of the Creative Commons Attribution licence (http://creativecommons.org/licenses/by/4.0), which permits unrestricted re-use, distribution and reproduction, provided the original article is properly cited.





An important and often overlooked cause of functional and psychosocial impairment in BD is cognitive impairment. While it is now widely recognised that a substantial proportion of individuals with BD experience cognitive impairments in the acute phase of the illness, it is often assumed that the euthymic phase is free of cognitive impairment (Buoli et al., 2014). Recent studies have shown that cognitive deficits persist beyond the resolution of acute mood symptoms, and this contributes to the functional disability associated with BD (Cullen et al., 2016; Van Rheenen et al., 2020a).

It is well-documented that certain cognitive domains are particularly impacted in BD, notably attention, processing speed, memory and executive functioning (Flaaten et al., 2024). Cognitive impairment has been increasingly recognised as an integral part of the BD phenotype (Pasovic et al., 2022). Several studies have shown that both young and older adults with BD have significant cognitive impairment (Flaaten et al., 2024; Pasovic et al., 2022), especially with executive function and attention processing, compared to age-matched control participants (Pasovic et al., 2022). Residual depressive symptoms, poor clinical course and a higher number of previous manic episodes may have a negative effect on cognitive performance. At the same time, the impact of medications, especially lithium, on cognition varies and may depend on the patient's clinical response (Keramatian et al., 2021).

Critically, we need a better understanding of the factors associated with cognitive impairments to advance the development of intervention strategies that directly target the remediation of cognitive dysfunction and/or prevent subsequent cognitive decline in the illness. As such data on cognitive function in BD cohorts from countries like Nigeria is limited. This is important considering the differences in sociocultural context that impact the assessment of cognition, the concept of recovery and the stigma that surrounds BD. Few studies in sub-Saharan Africa have explored the cognitive function of BD patients, with very small sample sizes and other methodological issues limiting the overall confidence in the reported findings (Miskowiak et al., 2022a). To address some of these issues, this study aims to take a preliminary look at the cognitive characteristics of our BD cohort and examine the relationships between demographic and clinical variables and cognitive scores among patients with BD using data from the BiDiLoS-Ng pilot study.

Methods

Study participants

The BD Longitudinal Study-Nigeria (BiDiLos-Ng) is a multicentre observational cohort study on BD in Nigeria (Adiukwu et al., 2023). The BiDiLoS-Ng is a multicentre open longitudinal cohort study of BD in Nigerian patients. The aim is to study the socio-demographic, clinical, cultural and biological factors associated with BD in a longitudinal cohort (Adiukwu et al., 2023). This paper pertains to the patients seen at the primary site of the registry.

The primary site of the study is the University of Port Harcourt Teaching Hospital (UPTH). This analysis in this report is part of the pilot phase of BiDiLos-Ng which occurred between January 2023 and June 2023. Study participants from the BD registry established by the BiDiLos-Ng were called up and had their cognitive and other assessments done. Forty participants with a clinical diagnosis of BD were recruited into the pilot study.

Study procedure

Participant recruitment

The study protocol received ethical approval from the Hospital Research and Ethical Committee (HREC) UPTH. Each potential study participant in the bipolar registry was reached *via* telephone and invited to take part in the pilot study. Following the telephone conversation, participants found to be eligible to be included in the pilot phase (above 18 years of age and an assessment of clinical remission as at the last outpatient clinic visit) were asked to come in-person for inclusion into the pilot study. Participants were given detailed information on the nature of the pilot study, and the possibility of being enrolled in the longitudinal phase of the study, and written informed consent was obtained.

Interview process

Demographic (age, sex, educational, and employment status) and clinical characteristics (previous number of mood episodes and current medication) as seen in the bipolar registry were confirmed by each participant during the in-person interview. A BD diagnosis was then confirmed by the clinician interviewer using the past manic and hypomanic episode section of Module 4a of the Structured Clinical Interview for DSM 5 (SCID 5) ('APA – The Structured Clinical Interview for DSM-5° n.d.). The current mood states of the participants were then assessed using the Hamilton depression rating scale (HAMD) (Hamilton, 1986) for depressive symptoms and the Young Mania Rating Scale (YMRS) ('Young Mania Rating Scale – an overview | ScienceDirect Topics' n.d.) for mania symptoms. Cognitive function was assessed using the Screen for Cognitive Impairment in Psychiatry (SCIP) (Purdon, 2005a) form 1.

The SCIP was designed as a cognitive screening tool for affective and psychotic disorders and takes about 15–20 min to complete. It assesses global cognition (SCIP total score) and has 5 subscales that assess verbal learning (VLT), working memory (WMT), verbal fluency (VFT), delayed recall (VLTD), and psychomotor speed (PST) (Purdon, 2005a). A cutoff score of greater than or equal to 75 on the SCIP total score indicates cognitive functioning within normal limits, while scores less than 75, 65, and 55 indicate mild, moderate, and severe cognitive limitations respectively (Purdon, 2005b). The subscale scores are interpreted as standardised Z-scores with scores less than -1.67 indicating a limitation in that subscale (Purdon, 2005b). Z-scores are calculated using the formula:

Z = (Score - Normative Sample Mean)/(Normative Sample SD).

The normative sample was derived from n=185 Canadians approximately 20 years of age with average to high average intellect (Purdon, 2005b). A Z-score of <-1.67 indicates a limitation in the cognitive subscale.

Data analysis

Demographic and clinical variables were presented in tables. Mean +/— SD were used to summarise continuous variables and frequency and percentages were used for categorical variables. Global cognitive impairment (SCIP total sore) was grouped into present or absent using the cutoff score of 74 to determine the prevalence of cognitive impairment in the study participants. The severity of cognitive impairment was also determined using

the relevant cutoff scores. To aid in the detailed interpretation of the subscale scores, standardised Z-scores were determined using the standard deviation of a normative sample (Purdon, 2005b) to determine the presence or absence of limitations in each subscale. Simple and multiple linear regression models were then used to determine the effect of clinical and demographic variables on cognitive function in the bipolar cohort. To achieve this, categorical variables were recoded as numerical variables (0,1,2 etc). Data was analysed using STATA 18. Dependent variables were tested for normality using the Shapiro-Wilks test of normality before regression analysis was done. The independent variables included in the multiple linear regression model were selected based on evidence from the literature (Larson et al., 2005; Biederman et al., 2011) and by running simple linear regression models on possible predictor variables to determine the potential for an association. Multicollinearity between variables was tested using variance inflation factor (VIF) and interaction terms and highly colinear covariates were removed from the regression model. To improve model fit, interaction terms (AGE*HAMD and AGE*YMRS) were included in the regression model, and lasso regression was carried out. This process was repeated using the subscale scores as the dependent variables.

Results

Forty participants were enrolled on the study, but 1 participant dropped out of the study. Data was cleaned for analysis, with each missing value or observation deleted (this was done for educational level only). The mean age of the study participants was 34.42 ± 9.43 years. Most of the participants were male (58.97%) and had a tertiary level of education (89.57%). However, only 29% of the participants were in full-time employment (Table 1). The study participants were euthymic except for 2 participants who had HAMD scores above the cutoff for depression.

Cognitive impairment as measured using SCIP total score was normally distributed. Cognitive impairment was present in 16/39 (41%) of the bipolar cohort using a cutoff score of 74. Of the participants with cognitive impairment, half (50%) of them had mild impairment (Table 2). We observed that 43.6%, 46.2%, and 51.3% of participants had some limitation in delay recall, verbal learning and working memory respectively (Table 3).

The total number and type of mood episodes did not have a significant relationship with global cognitive score (SCIP total) (Table 4). To control for the effect of clinical and demographic variables, we included these variables in a linear regression model (Table 5a and 5b) and did not find any significant effect on the type and number of mood episodes on the SCIP total score. However, we found that about a 1-year decrease and 5.03 unit decrease in age and young mania scores respectively were associated with a 1 unit increase in SCIP score (p = 0.03, and p = 0.02 respectively) when controlling for the total number of relapses of the study participant. However, this model did not provide strong evidence that the predictors used significantly explain the variability in the dependent variable (Prob > F = 0.15). In a sensitivity analysis, we added interaction terms (to the multiple linear regression model (Table 5b) to explore possible interactions between variables. This did not improve the overall model fit (Prob > F: 0.23).

The effect of independent variables on the subscale scores was carried out (Table 6). Higher educational level was associated with

Table 1. Demographic and clinical variables of participants

Demographic variables	Mean	Std. dev.	Range
Age	34.42	9.43	19–54
Sex	Freq.	Percent	
Female	16	41.03	
Male	23	58.97	
Total	39	100	
Education			
Secondary	5	14.29	
Tertiary	30	85.71	
Total	35	100	
Employment			
Full-time	11	28.95	
Part-time	5	13.16	
Unemployed	22	57.89	
Total	38	100	
Clinical variables	Mean	Std. dev.	Range
Age at onset	27.26	10.99	13–54
Duration to diagnosis	15.81	40.33	0–54
Number of mania episodes	1.49	1.21	0–5
Number of depressed episodes	0.62	0.88	0–3
Number of hypomania episodes	0.08	0.35	0–2
Number of mixed episodes	0.38	0.54	0–2
Number of relapses	2.56	1.41	0–7
HAMD scores	1.56	2.69	0–11
YMRS scores	0.54	1.98	0–12

Table 2. Prevalence of cognitive impairment in participants

Cognitive impairment (CI)	Freq.	Percent
Present	16	41.03
Absent	23	58.97
Total	39	100
Cognitive impairment severity		
Mild CI	8	50
Moderate CI	6	37.5
Severe CI	2	12.5
Total	16	100

higher verbal fluency test scores (Coeff. = 4.49, p = 0.02). Higher employment status (Coeff. = 2.09, p = 0.03), younger age (Coeff. = -0.384, p = 0.00), and lower YMRS score (Coeff. = -1.66, p = 0.006) were associated with higher working memory test scores. Higher employment level (Coeff. = 1.23, p = 0.03) and younger age (Coeff. = -0.24, p = 0.000) were associated with higher verbal fluency test scores. None of the included covariates had a significant effect on delayed verbal learning tests and processing speed test scores.

Table 3. Subscale scores and prevalence of impairment

SCIP subscales	Mean	Std. dev.
Verbal learning test	19.03	3.61
Working memory test	16.59	5.20
Verbal fluency test	15.90	3.14
Verbal learning test delay	4.64	2.11
Processing speed test	23.29	6.43
SCIP Total	78.85	14.23
Verbal learning test	Freq.	Percent
No limitation	21	53.85
Some limitation	18	46.15
Total	39	100
Working memory test		
No limitation	19	48.72
Some limitation	20	51.28
Total	39	100
Verbal fluency test		
No limitation	39	100
Total	39	100
Verbal learning test delay		
No limitation	22	56.41
Some limitation	17	43.59
Total	39	100
Processing speed test		
No limitation	35	89.74
Some limitation	4	10.26
Total	39	100

Discussion

Cognitive impairment in the BiDiLos-Ng cohort

We assessed the cognitive function of patients with BD using the Screening for Cognitive Impairment in Psychiatry (SCIP) and found that 41% of our BD cohort had some level of cognitive impairment with varying degrees of severity. While our study did not have a control group to determine an association between BD

and cognitive impairment, other studies have shown that this association exists. Cullen et al. (2016) in their systematic review of cognitive impairment in BD patients, found that cognitive impairment in BD was higher than comparison groups in almost all cognitive measures and at every cutoff (Cullen et al., 2016). There are significant variations within published literature on the prevalence of cognitive impairment in BD, majority of these studies align with our findings that a significant proportion of BD patients have varying degrees of cognitive impairments either globally or in specific domains (Keramatian et al., 2021). Cognitive impairment varied within the cohort when specific cognitive domains were assessed.

We found that the prevalence of impairment in executive function, working memory, and delayed recall was higher when compared to the prevalence derived from the total SCIP score. This implies that people living with BD who do not exhibit global cognitive decline might have limitations in specific domains of cognitive function which may impair areas of their functioning. There is consistent evidence of cognitive impairment in BD in areas of executive functioning, verbal working memory and sustained attention and these specific impairments have also been seen in first-degree relatives of people with BD (Bora et al., 2008).

Mood episodes and frequency and cognitive impairment in BD

Using linear regression models, we investigated the effect of the frequency of relapses (total number of mood episodes) and frequency of specific mood episodes on cognitive impairment in our cohort. We found no significant relationship between the frequency of mood episodes and relapses in cognitive function (SCIP total score). The frequency of individual mood episodes and the total number of relapses showed a negative association with the total SCIP score, but this association was not statistically significant. However, the imprecision of our estimates suggests that we lacked the power to detect significant effects.

Some studies directly comparing single to multiple mood episodes have shown worse cognitive impairment in BD patients with multiple mood episodes indicating a progressive cognitive dysfunction (Van Rheenen et al., 2020b). However, this has not been supported in more recent prospective studies where long-term stability of cognitive function across all domains has been found, indicating no cognitive deterioration (Flaaten et al., 2024). Systematic reviews have also found no consistent evidence for an association between cognitive impairment and subsequent mood episodes (Miskowiak et al., 2022b). This implies that the cognitive

Table 4. Linear regression of total SCIP score and frequency of mood episodes

SCIP total Score	Coefficient	Std. err.	t	Р	[95% conf.	interval]
Total number of mood episodes	-1.37	1.64	-0.83	0.41	-4.70	1.96
_cons	82.36	4.79	17.18	0.00	72.65	92.07
SCIP total score						
Number of mania episodes	-0.83	2.02	-0.41	0.68	-4.93	3.27
Number of depressive episodes	0.10	2.83	0.04	0.97	-5.66	5.86
Number of hypomania episodes	-12.17	6.85	-1.78	0.08	-26.10	1.75
Number of mixed episodes	-1.01	4.32	-0.23	0.82	-9.80	7.77
_cons	81.35	4.89	16.64	0.00	71.41	91.28

Table 5a. Multiple linear regression of total SCIP score and frequency of mood episodes

SCIP total score	Coefficient	Std. err.	t	P > t	[95% conf. interval]	
Number of relapses	-1.75	2.21	-0.79	0.44	-6.38	2.88
educational level	7.08	8.05	0.88	0.39	-9.77	23.94
Employment status	-3.76	3.00	-1.25	0.23	-10.03	2.51
Age ^a	-0.90	0.38	-2.40	0.03	-1.68	-0.11
Duration to BD diagnosis	-0.01	0.08	-0.13	0.90	-0.17	0.15
HAMD score	2.53	1.52	1.66	0.11	-0.65	5.71
YMRS score ^a	-5.03	1.91	-2.63	0.02	-9.03	-1.03
_cons	112.15	14.32	7.83	0.00	82.16	142.13
SCIP total score						
Number of mania episodes	-1.60	2.45	-0.65	0.52	-6.77	3.56
Number of depressive episodes	-5.98	4.46	-1.34	0.20	-15.39	3.43
Number of hypomania episodes ^b	0.00	(omitted)				
Number of mixed episodes	-0.33	5.33	-0.06	0.95	-11.58	10.92
educational level	2.95	9.17	0.32	0.75	-16.39	22.29
Employment status	-3.56	3.06	-1.16	0.26	-10.02	2.91
Age	-0.79	0.42	-1.90	0.08	-1.67	0.09
Duration to BD diagnosis	-0.02	0.08	-0.25	0.81	-0.20	0.16
HAMD score	2.61	1.67	1.56	0.14	-0.92	6.14
YMRS score ^a	-5.10	2.04	-2.50	0.02	-9.40	-0.79
_cons	113.58	15.01	7.57	0.00	81.90	145.25

^aStatistical significance.

impairment seen in people living with BD might be a core feature of the disorder and this may be amenable to cognitive therapy (Ott et al., 2020; Miskowiak et al., 2021).

Factors associated with cognitive impairment in BD

We used multiple linear regression to determine variables associated with cognitive impairment in our cohort. We found that the presence of mania symptoms in the euthymic state is associated with lower scores on tests of executive function and working memory. The negative effect of mania symptoms on executive function has been consistently reported in the literature (Larson et al., 2005). Contrary to popular belief that the euthymic phase of BD (remission) is not associated with psychopathologies, studies are consistently showing that this is not the case. Recently, a study carried out in Nigeria showed that BD I in remission was not different from schizophrenia in remission when comparing the

Table 5b. Multiple linear regression of total SCIP Score and frequency of mood episodes with variable interactions

SCIP total score	Coefficient	Std. err.	t	P > t	[95% conf. interval]	
Number of relapses	-1.79	2.32	-0.77	0.45	-6.66	3.0
educational level	7.06	8.28	0.85	0.41	-10.34	24.4
Employment status	-3.72	3.13	-1.19	0.25	-10.29	2.8
Age	-0.88	0.47	-1.85	0.08	-1.88	0.1
Duration to BD diagnosis	-0.01	0.08	-0.10	0.92	-0.18	0.1
HAMD Score	2.93	5.61	0.52	0.61	-8.87	14.7
YMRS score	-5.18	2.79	-1.86	0.08	-11.05	0.6
AGE_HAMD_ interaction	-0.01	0.14	-0.07	0.94	-0.30	0.2
_cons	111.45	17.46	6.38	0.00	74.76	148.1
SCIP total score						
Number of mania episodes	-1.68	2.63	-0.64	0.53	-7.25	3.9
Number of depressive episodes	-6.02	4.62	-1.30	0.21	-15.81	3.7
Number of hypomania episodes ^a	0.00	(omitted)				
Number of mixed episodes	-0.25	5.55	-0.04	0.97	-12.02	11.5
educational level	2.94	9.45	0.31	0.76	-17.08	22.9
Employment status	-3.49	3.22	-1.08	0.30	-10.32	3.3
Age	-0.77	0.50	-1.53	0.15	-1.83	0.3
Duration to BD diagnosis	-0.02	0.09	-0.22	0.83	-0.21	0.1
HAMD score	3.19	5.80	0.55	0.59	-9.12	15.4
YMRS score	-5.30	2.86	-1.85	0.08	-11.36	0.7
AGE_HAMD_ interaction	-0.02	0.15	-0.10	0.92	-0.33	0.2
_cons	112.64	17.92	6.28	0.00	74.64	150.6

^aOmitted due to multicollinearity.

severity of their psychopathologies (Esan et al., 2017). The presence of mood variability during the euthymic phase of BD has negative effects on cognitive functioning as seen in our study, and as such may impair occupational and academic functioning and possibly quality of life.

Higher educational attainment was associated with better performance in tests of executive function and being gainfully employed (part- or full-time employment) was associated with better performance in tests of executive function and working memory. While we cannot conclude on the direction of these associations, there is evidence from literature that higher educational performance may be a distinctive feature of BD *i.e.* when comparing the educational attainment of patients with BD against other severe mental disorders, patients with BD tended to have higher educational achievement before their first episode (Vreeker

bomitted due to multicollinearity.

Table 6. Linear regression of SCIP subscale scores and clinical and demographic variables

Verbal learning test score	Coeff.	Std. err.	t	Р	[95% conf.	interval]
Educational level ^a	4.49	1.72	2.60	0.02	0.95	8.02
Employment status	-0.17	0.74	0.23	0.82	-1.35	1.69
Age	-0.11	0.07	-1.53	0.14	-0.26	0.04
HAMD score	0.57	0.36	1.60	0.12	-0.16	1.30
YMRS score ^a	-0.94	0.46	-2.05	0.05	-1.88	0.00
_cons	18.36	3.21	5.72	0.00	11.77	24.95
Working memory	test scor	e				
Educational level	2.306	2.107	1.090	0.283	-2.017	6.62
Employment status ^a	2.093	0.905	-2.310	0.029	-3.950	-0.23
Age ^a	-0.384	0.089	-4.300	0.000	-0.568	-0.20
HAMD score	0.255	0.435	0.590	0.563	-0.638	1.14
YMRS score ^a	-1.664	0.561	-2.970	0.006	-2.815	-0.51
_cons	30.824	3.924	7.860	0.000	22.773	38.87
Verbal fluency tes	t score					
Educational level	1.62	1.29	1.26	0.22	-1.02	4.26
Employment status ^a	1.23	0.55	-2.23	0.03	-2.36	-0.10
Age ^a	-0.24	0.05	-4.33	0.00	-0.35	-0.12
HAMD score	0.37	0.27	1.41	0.17	-0.17	0.92
YMRS score	-0.51	0.34	-1.50	0.15	-1.22	0.19
_cons	23.94	2.39	10.00	0.00	19.02	28.85
Verbal learning de	lay test	score				
Educational level	2.10	1.05	2.00	0.06	-0.05	4.26
Employment status	0.19	0.45	-0.42	0.68	-1.11	0.74
Age	-0.07	0.04	-1.58	0.13	-0.16	0.02
HAMD score	0.11	0.22	0.50	0.62	-0.34	0.55
YMRS score	-0.42	0.28	-1.48	0.15	-0.99	0.16
_cons	5.33	1.96	2.72	0.01	1.31	9.35
Processing speed	test					
Educational level	1.99	3.50	0.57	0.58	-5.20	9.17
Employment status	-0.37	1.50	0.25	0.81	-2.70	3.45
Age	-0.14	0.15	-0.95	0.35	-0.45	0.17
HAMD score	-0.05	0.72	-0.07	0.95	-1.53	1.43
YMRS score	-0.24	0.93	-0.25	0.80	-2.14	1.67
_cons	25.88	6.51	3.98	0.00	12.50	39.27

^aStatistical significance.

et al., 2016). This was also seen in our study where most of our cohort had a tertiary level of education and having a higher level of education was associated with less cognitive impairment. Studies have also shown that deficits in executive dysfunction in patients

with BD have been associated with lower academic achievements (Biederman et al., 2011) and that BD patients who are actively employed have better executive function (Drakopoulos et al., 2020). Cognitive performance in BD is a predictor of favourable employment status, with verbal memory and executive functioning predicting work functioning (Gilbert and Marwaha, 2013; Tse et al., 2014). Cognitive remediation therapy (CRT) has been shown to improve the quality of working life in people with severe mental illnesses (Ikebuchi et al., 2017) with people who undergo CRT having higher employment percentages than those who did not undergo CRT (Rodríguez Pulido et al., 2021). In BD a study has found that CRT increases overall occupational and psychosocial functioning (Deckersbach et al., 2010). We can therefore propose that better educational attainment is associated with better executive function, which in turn could be a powerful predictor of occupational status in BD. This, thus highlights the need to incorporate cognitive assessment as an integral part of BD follow-up care alongside the use of pharmacotherapy and psychotherapy to improve the overall outcome of the disorder.

Limitation and recommendation

In our pilot study, all participants were recruited in the euthymic state and as such the full effect of mania and depressive symptoms on cognitive function was not studied. We did not include a control group in the pilot study, and we used a cross-sectional design to find associations. While we used a standardised population to determine the Z-score, this standard population does not reflect the peculiarities of our population. Our sample size of 39 is too small for this study to have sufficient power to detect significant associations and is less likely to accurately reflect the true characteristics of the sample population. This emphasises the need for a larger bipolar cohort in Nigeria. To this end, the longitudinal study intends to recruit more participants over 2 study sites, thus more data will be collected including a control group, the participants will then be followed up longitudinally to improve sample size and thus improve the power of the study.

Strengths

Our study is one of the first from our population to study the cognitive function in BD patients considering the number of illness episodes, educational attainment, and sociocultural clime.

Conclusions

Cognitive impairment (global and specific domains) is highly prevalent in patients living with BD. These impairments might be core features of BD affecting overall functioning, yet they tend to be overlooked in the management of the disorder. While there are controversies concerning the efficacy of treatments for cognitive impairments, our findings highlight the importance of more research in this field especially in sub-Saharan Africa.

Open peer review. To view the open peer review materials for this article, please visit http://doi.org/10.1017/gmh.2024.125.

Supplementary material. The supplementary material for this article can be found at http://doi.org/10.1017/gmh.2024.125.

Data availability statement. The study data are available from authors upon request.

Acknowledgements. The authors acknowledge Dr. Lucy Ugbomah for her contribution to the study.

Author contribution. FNA developed the concept of this study, wrote the draft, revised the manuscript, and approved the final version. CMA wrote the draft of the manuscript with FNA and revised the manuscript. OA, IM and ICJ revised the manuscript. All authors approved the final version for submission.

Financial support. This BiDiLoS-Ng was sponsored by a seed fund from the World Psychiatry Association (WPA) Education, Science, Publication, and Research Initiative (ESPRI) (Schulze, 2020).

Competing interest. The authors declare no conflict of interest.

Ethical standard. This study received ethical approval from the University of Port Harcourt Teaching Hospital (UPTH) Hospital Research Ethical Committee (HREC).

References

- Adiukwu FN, Adesokun O, Metu I, Jack I, Ekwubiri C, Igbari Joy I and Chukwujekwu C (2023) Bipolar disorder longitudinal study in Nigeria – preliminary data on demographic and clinical findings of the study cohort. *Journal of Affective Disorders Reports* 14, 100617. https://doi.org/10.1016/J. IADR.2023.100617.
- APA The Structured Clinical Interview for DSM-5* (n.d.) https://www.ap pi.org/products/structured-clinical-interview-for-dsm-5-scid-5 (accessed 6 April 2023).
- Biederman J, Petty CR, Wozniak J, Wilens TE, Fried R, Doyle A, Henin A, Bateman C, Evans M and Faraone S V. (2011) Impact of executive function deficits in youth with bipolar I disorder: a controlled study. *Psychiatry Research* 186(1), 58–64. https://doi.org/10.1016/J.PSYCHRES.2010.08.029.
- Bora E, Vahip S, Akdeniz F, Ilerisoy H, Aldemir E and Alkan M (2008) Executive and verbal working memory dysfunction in first-degree relatives of patients with bipolar disorder. *Psychiatry Research* 161(3), 318–324. https://doi.org/10.1016/J.PSYCHRES.2007.09.002.
- Buoli M, Caldiroli A, Caletti E, Zugno E and Altamura AC (2014) The impact of mood episodes and duration of illness on cognition in bipolar disorder. Comprehensive Psychiatry 55(7), 1561–1566. https://doi.org/10.1016/J. COMPPSYCH.2014.06.001.
- Cullen B, Ward J, Graham NA, Deary JJ, Pell JP, Smith DJ and Evans JJ (2016) Prevalence and correlates of cognitive impairment in euthymic adults with bipolar disorder: a systematic review. *Journal of Affective Disorders* 205, 165–181. https://doi.org/10.1016/J.JAD.2016.06.063.
- Deckersbach T, Nierenberg AA, Kessler R, Lund HG, Ametrano RM, Sachs G, Rauch SL and Dougherty D (2010) RESEARCH: Cognitive rehabilitation for bipolar disorder: an open trial for employed patients with residual depressive symptoms. CNS Neuroscience & Therapeutics 16(5), 298–307. https://doi.org/10.1111/J.1755-5949.2009.00110.X.
- Drakopoulos J, Sparding T, Clements C, Pålsson E and Landén M (2020)
 Executive functioning but not IQ or illness severity predicts occupational status in bipolar disorder. *International Journal of Bipolar Disorders* 8(1), 1–9. https://doi.org/10.1186/S40345-019-0168-6/TABLES/5.
- Esan O and Esan A (2016) Epidemiology and burden of bipolar disorder in Africa: a systematic review of data from Africa. Social Psychiatry and Psychiatric Epidemiology 51(1), 93–100. https://doi.org/10.1007/s00127-015-1091-5.
- Esan O, Osunbote C, Oladele O, Fakunle S, Ehindero C and Fountoulakis KN (2017) Bipolar I disorder in remission vs. schizophrenia in remission: is there a difference in burden? *Comprehensive Psychiatry* 72, 130–135. https://doi. org/10.1016/J.COMPPSYCH.2016.10.009.
- Flaaten CB, Melle I, Bjella T, Engen MJ, Åsbø G, Wold KF, Widing L, Gardsjord E, Øie MG, Lyngstad SH, Haatveit B, Simonsen C and Ueland T (2024) Long-term course of cognitive functioning in bipolar disorder: a ten-year follow-up study. *Bipolar Disorders* 26(2), 136–147. https://doi.org/10.1111/BDI.13364.

- Gergel T, Adiukwu F and McInnis M (2024) Suicide and bipolar disorder: opportunities to change the agenda. The Lancet Psychiatry. https://doi. org/10.1016/S2215-0366(24)00172-X.
- Gilbert E and Marwaha S (2013) Predictors of employment in bipolar disorder: a systematic review. *Journal of Affective Disorders* **145**(2), 156–164. https://doi.org/10.1016/J.JAD.2012.07.009.
- Hamilton M (1986) The Hamilton rating scale for depression. In Assessment of Depression. Berlin Heidelberg: Springer, 143–152. https://doi.org/10.1007/ 978-3-642-70486-4_14.
- Ikebuchi E, Sato S, Yamaguchi S, Shimodaira M, Taneda A, Hatsuse N, Watanabe Y, Sakata M, Satake N, Nishio M and Ito JI (2017) Does improvement of cognitive functioning by cognitive remediation therapy effect work outcomes in severe mental illness? A secondary analysis of a randomized controlled trial. Psychiatry and Clinical Neurosciences 71(5), 301–308. https://doi.org/10.1111/PCN.12486.
- Keramatian K, Torres IJ and Yatham LN (2021) Neurocognitive functioning in bipolar disorder: What we know and what we don't. *Dialogues in Clinical Neuroscience* 23(1), 29–38. https://doi.org/10.1080/19585969.2022.2042164.
- Larson ER, Shear PK, Krikorian R, Welge J and Strakowski SM (2005) Working memory and inhibitory control among manic and euthymic patients with bipolar disorder. *Journal of the International Neuropsychological Society* 11(2), 163–172. https://doi.org/10.1017/S1355617705050228.
- McIntyre RS, Berk M, Brietzke E, Goldstein BI, López-Jaramillo C, Kessing LV, Malhi GS, Nierenberg AA, Rosenblat JD, Majeed A, Vieta E, Vinberg M, Young AH and Mansur RB (2020) Bipolar disorders. *The Lancet* 396 (10265), 1841–1856. https://doi.org/10.1016/S0140-6736(20)31544-0.
- Mezes B, Lobban F, Costain D, Hillier L, Longson D, Varese F and Jones SH (2022) Recovery beyond clinical improvement recovery outcomes measured for people with bipolar disorder between 1980 and 2020. *Journal of Affective Disorders* 309, 375–392. https://doi.org/10.1016/J.JAD.2022.04.075.
- Miskowiak KW, Mariegaard J, Jahn FS and Kjærstad HL (2022a) Associations between cognition and subsequent mood episodes in patients with bipolar disorder and their unaffected relatives: a systematic review. *Journal of Affective Disorders* 297(October 2021), 176–188. https://doi.org/10.1016/j.jad.2021.10.044.
- Miskowiak KW, Mariegaard J, Jahn FS and Kjærstad HL (2022b) Associations between cognition and subsequent mood episodes in patients with bipolar disorder and their unaffected relatives: a systematic review. *Journal of Affective Disorders* 297, 176–188. https://doi.org/10.1016/J.JAD.2021.10.044.
- Miskowiak KW, Møller AB and Ott C V. (2021) Neuronal and cognitive predictors of improved executive function following action-based cognitive remediation in patients with bipolar disorder. *European Neuropsychopharmacology* 47, 1–10. https://doi.org/10.1016/J.EURONEURO.2021.02.013.
- Ott C V., Macoveanu J, Bowie CR, Fisher PM, Knudsen GM, Kessing L V. and Miskowiak KW (2020) Change in prefrontal activity and executive functions after action-based cognitive remediation in bipolar disorder: a randomized controlled trial. *Neuropsychopharmacology* 46(6), 1113–1121. https://doi. org/10.1038/s41386-020-00901-7.
- Pasovic V, Khan AA, Wong A and Akinyemi E (2022) History of bipolar disorder and the risk of dementia: a systematic review and meta-analysis. *Essential Reviews in Geriatric Psychiatry* 25(4), 121–123. https://doi.org/10.1007/ 978-3-030-94960-0_22.
- Purdon SE (2005a) Screen for Cognitive Impairment in Psychiatry: Administration and Psychometric Properties. Purdon Neuropsychological Labs Inc.
- Purdon SE (2005b) Screen for Cognitive Impairment in Psychiatry (SCIP).Purdon Neuropsychological Labs Inc.
- Rodríguez Pulido F, Caballero Estebaranz N, González Dávila E and Melián Cartaya MJ (2021) Cognitive remediation to improve the vocational outcomes of people with severe mental illness. Neuropsychological Rehabilitation 31(2), 293–315. https://doi.org/10.1080/09602011.2019.1692671.
- Schulze TG (2020) The WPA education, science, publication, and research initiative (ESPRI): jumpstarting scientific projects in low- and middle-income countries. World Psychiatry 19(1), 123. https://doi.org/10.1002/WPS.20709.
- Tse S, Chan S, Ng KL and Yatham LN (2014) Meta-analysis of predictors of favorable employment outcomes among individuals with bipolar disorder. Bipolar Disorders 16(3), 217–229. https://doi.org/10.1111/BDI.12148.
- Van Rheenen TE, Lewandowski KE, Bauer IE, Kapczinski F, Miskowiak K, Burdick KE and Balanzá-Martínez V (2020a) Current understandings of

the trajectory and emerging correlates of cognitive impairment in bipolar disorder: an overview of evidence. *Bipolar Disorders* **22**(1), 13–27. https://doi.org/10.1111/bdi.12821.

- Van Rheenen TE, Lewandowski KE, Bauer IE, Kapczinski F, Miskowiak K, Burdick KE and Balanzá-Martínez V (2020b) Current understandings of the trajectory and emerging correlates of cognitive impairment in bipolar disorder: an overview of evidence. *Bipolar Disorders* 22(1), 13–27. https://doi.org/10.1111/BDI.12821.
- Vieta E, Berk M, Schulze TG, Carvalho AF, Suppes T, Calabrese JR, Gao K, Miskowiak KW and Grande I (2018) Bipolar disorders. Nature Reviews Disease Primers 4(1), 1–16. https://doi.org/10.1038/nrdp.2018.8.
- Vreeker A, Boks MPM, Abramovic L, Verkooijen S, Van Bergen AH, Hillegers MHJ, Spijker AT, Hoencamp E, Regeer EJ, Riemersma-Van Der Lek
- RF, Stevens AWMM, Schulte PFJ, Vonk R, Hoekstra R, Van Beveren NJM, Kupka RW, Brouwer RM, Bearden CE, MacCabe JH and Ophoff RA (2016) High educational performance is a distinctive feature of bipolar disorder: a study on cognition in bipolar disorder, schizophrenia patients, relatives and controls. *Psychological Medicine* **46**(4), 807–818. https://doi.org/10.1017/S0033291715002299.
- Xu N, Huggon B and Saunders KEA (2020) Cognitive impairment in patients with bipolar disorder: impact of pharmacological treatment. CNS Drugs 34(1), 29–46. https://doi.org/10.1007/S40263-019-00688-2/ METRICS.
- Young Mania Rating Scale an overview | ScienceDirect Topics (n.d.) https://www.sciencedirect.com/topics/medicine-and-dentistry/young-mania-rating-scale (accessed 7 November 2020).